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Girls’HighSchool&College,Prayagraj
PhysicsPractical
Session2020-2021
Class-XABCDEF
Subject-Physics

Instructions:-

1.ParentsareexpectedtoensurethatthestudentwritesallexperimentsinGuided

PhysicsPracticalWork-Book(DNPublicationsorNovaPublications).

2.Observationandreadingwillbedone,whentheschoolre-opens.

3.Eachexperimentshouldstartfromanewpage.

4.Welllabelleddiagramstobedrawnontheleftpageonly.

EXPERIMENTNO.9

AIM:-Todeterminethefocallengthofthegivenconcavemirror.

APPARATUSREQUIRED:-Aconcavemirror,ametrescale,apin,apinholderanda

mirrorholder.

THEORY:-Whentheobjectisplacedatthecentreofcurvatureinfrontofconcavemirror,

itsimageisformedatthesameplaceandofthesamesize.Inthisposition(sharpest

imageposition),thedistancebetweenthepositiontheobjectandthemirrorwillbe

equaltotheradiusofcurvature(R)andhalfofradiusofcurvaturewillbethefocal

lengthofconcavemirror.

FORMULAUSED:-F=R/2

OBSERVATIONANDCALCULATION:-

Leastcountofthemetrescale=............cm.
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Sl.No. Positionof

pinX(incm)

Positionof

mirrorY(incm)

Radiusofcurvature

R=Y-X(incm)

Focallength

F=R/2(incm)

1

2

3

4

AverageFocalLength=Sumoffocallength/4

=(....+....+....+....)/4cm.

=.............cm.

RESULT:-Thefocallengthofthegivenconcavemirrorasobtainedfromtheabove

experimentis.............cm.
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EXPERIMENTNO.10

AIM:-Todeterminethefocallengthofgivenconvexlensbymeasuringuandv.

APPARATUSREQUIRED:-Aconvexlens,alensholder,twoneedles,twoneedleholders

andametreruler.

FORMULAUSED:-Ifubethethedistanceofaobjectfromthelensandvbethe

distanceofimagefromthelens,thenthefocallengthoftheconvexlensis

1/f=1/v-1/u

Incaseofconvexlensuisnegativeandvispositive.

1/f=1/v-1/-u=1/v+1/u

f=uv/u+v

OBSERVATIONANDCALCULATION:-

Leastcountofthemetrescale=...........cm.

S.No. Position

oflens(L)

Position

ofobject

X(incm)

Position

ofimage

Y(incm)

u=L-X

(incm)

v=Y-L

(incm)

f=uv/v+u

(incm)

1.

2.

3.

4.

Averagefocallength=Sumoffocallengths/No.ofreadings

=(....+....+....+....)/4cm.

=.............cm.

RESULT:-Thefocallengthofthegivenconvexlensasobtainedfromtheabove

experimentis........cm.
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EXPERIMENTNO.11

AIM:-Toverifyohm’slawusingsimpleelectriccircuit.

APPARATUSREQUIRED:-Coiledresistorof2ohm,ammeter0–3.0A,voltmeter0-3.0
V,rheostat,key,battery2.0Vandconnectingwires.

OHM’SLAW:-AccordingtoOhm’slaw,thecurrentflowinginaconductorisdirectly
proportionaltothepotentialdifferenceappliedacrossitsendsprovidedthatthe
physicalconditionsandthetemperatureoftheconductorremainconstant.

OBSERVATIONS:-
Leastcountoftheammeter=………….A
Leastcountofthevoltmeter=………….V

S.No. AmmeterReadingI

(inamp.)

VoltmeterReadingV

(involts)

1.

2.

3.

4.

RESULT:-SinceV–IgraphisastraightlinewhichverifiesOhm’slaw.
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EXPERIMENTNO.12

AIM:-TodeterminethevalueofunknownresistanceusingOhm’slaw.

APPARATUSREQUIRED:-Coiledresistorof2ohm,ammeter0–3.0A,voltmeter0-3.0
V,rheostat,key,battery2.0Vandconnectingwires.

OHM’SLAW:-AccordingtoOhm’slaw,thecurrentflowinginaconductorisdirectly
proportionaltothepotentialdifferenceappliedacrossitsendsprovidedthatthe
physicalconditionsandthetemperatureoftheconductorremainconstant.

OBSERVATIONS:-
Leastcountoftheammeter=………….A
Leastcountofthevoltmeter=………….V

S.

No.

AmmeterReadingI

(inamp.)

VoltmeterReadingV

(involts)

ResistanceR=V/I

(inohm)

1.

2.

3.

4
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MeanresistanceR=
…………+………………..+………………+………………..

4
= ………………….ohm

Fromgraph–
V1=………..V V2=………..V
I1=………..A I2=………..A

SlopeofV-IgraphR=
v2-v1

I2-I1
=………………………..
=…………………………….ohm

RESULT:-Thevalueofresistancefromthegraph,R=……………………..ohm.


